SF0 145 i = X 15
KA F 4 o 2 AR SIS AT T REE
S (TR wass @M m oW g [P ACEERTEECEA RS
% e = * ® = # ®
W AP [FhE 5 6 Bk
1 BEEREUIEL P o B A X — 1o 15— —
2 LERLIA o i 50 | L1 1gd 230 1. 2% 1.9
LIS o i 50 | 1.1[#0 2. 9% 6. 5%t 1. 2% 1.9
O| g Ecet 50 | 1.1 W 3. E 5. Ot 1. 1k 1.1
Py E)in Eaeiy 50 | 1.1 [F0 2.9%0 5. Ol 1. 16 1.1
plIES EceiH 50 | 1.1 [ 2. off L 1.1
| B EiE 5 6 BihV R UEETR Y 50 | 1.2 [#f 3. 2% L2l 2.2
LERLS o i 50 | 1.1[ft 2.6 Il 2.1
L TE®AQ Sty 50 | 1.1[t 2.9 11
BSEA1YEIN Eeitd 50 | 1.1[# 2.5 L Ll




